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THE 25-MINUTE IQ TEST

PIANO is to PLAY, as BOOK is to: .
a. screanm b. read c, dance d. run

In this series, what number comes next?
3, 9, 5, 11, 7, ?

These words can be arranged to form a sentence. If the sentence is

true, write true. If it is false, write false.
burn paper can  wet

These words can be arranged to form a sentence. If the sentence is

true, write true. It it is false, write false.

on floats waod never water
]

In this series, what number comes next?

1, 3, 3, 10, ?
CAUTIOUS means: a. important b. negligént
c. careful d. careless

HE is to HIM, as SHE is to:
a. me b, theirs ¢, her d. his

In this group, which object does NOT belong?
a. radio b, clock «¢. football d. battery

In this group, which word does ROT belong?
a. builder - b, bricklayer «c¢. architect d. dentist

In this series, what number comes nexi?
a. 33, 44, 66, 9, ?

BOTANIST is to SOCICLOGY, as PLANT is to:
a. men b. train c. society d. headache

In this sertes, what letter comes next?
a. 4, E, B, I, ¢, M D 7

Which letter does NOT belong in this series?
ZI Yl‘ X! Br w.; V

Physical Education makes for:
a, godline=s ©b. health c¢. silver d. skating

T is to _X as E is to:
a'LLJ b.\5> T:.Ea | d. rfi

A canoe always has: = a. paddles b. canvas ¢. water

d. length
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In this series, what number comes nex
2, A’ g| B, 6, C’ 13, D, ?

Twenty men can dig 40 holes in 60 days, so 10 men can dig 20 holes
in how many days? ' .

In this series, which number does NOT belong?
2, 4, 100, 38, 20, 7

In 1his series, what letter comes next?
A4, C, B, D, F, E, G, 7

If aﬂl men have shoes, then big men have:
a. big shoes b, ald shoes ¢, shoes d. green shoes

What ﬁumber 1s as much more than 10 as it is less than one-half of
what 30 is 10 less than? ’

In this group, which word does NOT belang?
a. sadness b. melanchaly <. sorrow 4. mourning

BIRD is to FISH, as AIRPLANE is fa: :
a. boat b. whale ¢, dory d. ship e. submarine

How many miles can a dog run in 3 minutes {f the dog runs half as
fast as a car going at the rate of 40 miles per haur?

One series below is in opposite arder to the other, except for a
particular number. Write the number.
1, 2, 3 1, 3, 2

In this group, which word does NOT belong?
a. the b. a ¢. an d. it

Boxes always have: a. angles b. chapes «c. drawers d. covers

PLANE is to SQLID, as LINE is to:

a. square b. ecircle «¢. angle d. rectangle e. plane

In this series, what number comes next?
2, 9 8, 7, 118, 5, 7

COMPREHENSIBLE advice is:
a. bad b. reprehensible «¢. understandable d. good

Half a waltor's earnings, and a dollar besides, comes from tips.
If he earns 15 dollars, how many dollars come from tips?

Which of these words most nearly corresponds in meaning to DELETE?
a. sell b. erase «c. file d. rent
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People always have: a. fringes b. hair c. cars
' d. shoes e. baodies

PIQUE is most similiar in meaning to:
a, choice b, decoration c. dwarf d. resentment 2, S0rrow

When Xr. Grahn makes soup he puts in 2 beans for every 5 peas.
If his soup contains a total aof 2100 peas and beans, how many peas

are here?

No cat can sing, but some cats can talk. If so:

a. some cats can sing
b. all cats can't sing
c. all cats can talk
d. some cats can sing or talk
|
Steekings always have: ~ a. holes b. weight

c. seans - d. garters

One bunch of potatoes has nne~third again as many potatoes as a
second bunch. If the second bunch has 3 fewer potatoes than the
first bunch, how many has the first bunch?

Birds can only fly and hop, but worms can crawl; therefore:
a. birds =at worms

b. birds don't crawl

¢c. birds sometime crawl

d. worms sometime fly and hop




